Wednesday 13th January - Gold Number Puzzles Activity

Is there more than one solution? Why?
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Write any other solutions here:
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Write any working here:
[bookmark: _GoBack]In a Sudoku puzzle, you must use the digits 1 to 9 only. Each row and each column must contain the numbers 1 to 9 and each 3x3 box must also contain the digits 1-9.
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What if a circle’s value increases by 2?

What will change, what will stay the same?
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Each shape stands for a number.

The numbers shown are the totals of the line of
four numbers in the row or column.

Find the remaining totals.
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Use each of the numbers 1 to 6 once.
Write one in each circle.

Numbers next to each other must not be joined.
For example, 3 must not be joined to 2 or 4.

1 23 456




image2.png
Using any whole numbers as many
times as you like make each line of the
rectangle add up to 20.

Can you find more than one way to do
this?

Can you make up your own puzzle like
this?
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Each shape stands for a number.
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Work out the value of each shape.
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